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DAY 2

Chemistry Test Answer Key

Dr. Thomas C. Hsu (B. Fortney)

University of Texas at Austin - TRC

1. Which of the following statements are reasons why the atomic mass is not an integer?

a) Many elements have several naturally occurring isotopes

b) Some mass is converted to energy (E = mc2) when the nucleus forms

c) Some atoms contain fractional neutrons or protons (i.e. single quarks)

d) The nucleus has energy levels similar to electron shells

2. Beryllium and oxygen are most likely to combine in what ratio


a) Be2O
b) BeO

c) BeO2
d) Be2O3
3. Which of the following elements is most likely to be “X” in X(OH)2?


a) Mg

b) Li

c) B

d) C

4. Which of the following is most likely to bond with 3 hydrogen atoms into a single molecule?


a) N

b) Mg

c) O

d) Cl

5. How many neutrons are in the nucleus of silicon-29?

15 (29-14=15)

6. The third energy level has how many electrons?


a) 2

b) 8

c) 18

d) 32

7. Only two stable isotopes have fewer neutrons than protons. Which are they? 

Hydrogen-1 (H1) (only one proton, no neutron) and Hydrogen-2 (H2) (two protons, no neutron)

8. Consider the period that begins with lithium and ends with neon. If we exclude neon and consider the trend in atomic radius, from left to right, as the atomic number increases, the atomic radius

  
a) increases
b) stays about the same
c) decreases
d) changes erratically

9. An isotope that is radioactive could eventually (choose all that are true)

a) become another element

b) cool down but remain the same element

c) split into two fragments of about the same mass (fission)

d) combine nuclei with another atom of about equal mass (fusion)

10. The element chlorine has how many valence electrons


a) 0

b) 1

c) 7

d) 8

11. One of the three nuclei is a different element from the other two. Which is different? 


a) n = 11, p = 10
b) n = 11, p = 11 
c) n = 12, p = 10

12. The half life of C-14 is 5,700 years. Suppose a given sample of C-14 is left alone for 17,000 
      years. About how much of the original sample is still carbon?


a) 50%
b) 25%

c) 12%

d) 6%

13. Calculate the formula mass of acetic acid (HC2H3O2)

60.052 g/mol

14. (Ignoring resonance structures) How many double bonds are in a molecule of Benzene (C6H6)?

Three

